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WORK SHEET No. 2    Date________ 

             Month________ 

Competency: Understanding Basic Concepts 

I. What will you use g or kg to measure the weight of the following: 
 

1. A pencil    ________________________ 

2. A big watermelon   ________________________ 

3. A cake    ________________________ 

4. An orange    ________________________ 

5. A sack of wheat   ________________________ 

6. A spoon of sugar   ________________________ 

7. An apple    ________________________ 

8. A big pumpkin   ________________________ 

II. Match the following weights and use = sign and write in the given space: 

 

 

 

 

Ex:   3kg of carrots          =         3000 g of potatoes 

1. __________________   ____________________ 

2. __________________   ____________________ 

3. __________________   ____________________ 

4. __________________   ____________________ 

Teacher’s Signature        Parent’s Signature 

1 kg of potato 2 kg of beans 

2 kg of tomatoes 1000 g of chillies 

4 kg of onions 500 g of sugar 

½  kg of rice 2 kg of brinjal + 2 kg of 

beetroot 

Downloaded  from  www.studiestoday.com

Downloaded  from  www.studiestoday.com




